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‘Kailash Sankhala’® was associated with -
(A) Black deer conservation

(B) Snake conservation

(C) Bishnoi caste

(D) Tiger conservation

HE Wiaw gty § -

(A) & foor dvem &

(B) w9 wvawm &

(C) fasé wnfy &

(D) & dvgw &

Which is the rank of Rajasthan in India in terms
of population in 20119

(A) 8" Rank (B) 24" Rank

(C) 27" Rank (D) 12 Rank

39 B F T B e ¥ TrowaT #2011 F A
wown kv

(A) 8ai wd
(C) 274 =w

(B) 24 o @9
(D) 1241 &5

Fatty liver is present in -

(A) Pellagra (B) Marasmus
(C) Kwashiorkor (D) Scurvy
% aga B & -

(A) Y&mm ¥ (B) g@r o A
(C) w=faratd (D) wdl &

The excavation work of Ahar was accomplished
under whose leadership?

(A) B.B. Lal (B) V.N. Misra

(C) V.S. Wakankar (D) H.D. Sankalia

IS B S@T B ud Age § Ty gon a1 ?
(A) 1.1 &= (B) dr.u. faan

(C) dtum. a@@t (D) ua.d. wimfman

The cube of 101 is -
101 & 97%a & —
(A) 1050501

(C) 1030301

(B) 1020201
(D) 1040401

Which state sent military help for the assistance
of the Maharao of Kota in the freedom struggle of
1857? -

(A) Karauli (B) Jaipur

(C) Jodhpur (D) Udaipur

1857 % w@a=al §A | HIeT HETUd & Ferdal & forw
few weg 7 & wergar w7

(A) Het (B) w@ge

(C) Siragt (D) sEagt
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Which of the following bird ‘is linked witj,
phosphorus cycle?

A) Humming bird (B) G.uano

§C)) Kingfisher (D) Flgeon
Preffaa & & B9 @ @i GEHITE 9% B TH
w7 '

(A) wftim @ (B) T3

(C) Pomiteart (D) #

If the volume of a right circular cone is 16 ¢ m3
and height is 12 m. The diameter of the base s -
(A) © m. (B) 4 m.
©) 2m. (D) | m.
afy us wagda oiF B AT 167 W3 qur Sré
12t ¥ SE% o & AW ¥ -
@A) W (B) 4 .
(©) 2. (D) 1.

Charcoal is used to remove colouring from pure
substance. It works by

(A) bleaching (B) oxidation

(C) reduction (D) adsorption

areare @ vad & P & o s i s
¥ g5 frw e & w0 HE HLar ¥ 7

(A) fatwm (B) aaiia

(C) smaad (D) afasgiraor

With which folk art is Jankilal associated?
(A) Baharupiya (B) Nautanki

. (C) Phad (D) Tamasha
AFEra g die-ba § gafug ¥ 7
(A) assftrn (B) réa
©) s (D) e

In order to get a diminished, virtual and erect
image, the object can be placed anywhere in front
of a mirror.

(A) either concave or convex

(B) convex

(C) concave

(D) plane

i e ag () @1 e, s @ dren wifea wrw

FATGIW W F wH HE g o T@r =
HHar &1

(A) a1 91 HFgaw a1 Iaw

(B) sww

(C) oadd

(D) wwaw
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World's largest museum of Harappan culture is
being setup in -

(A) Rakhigarhi (B) Lothal

(C) Kalibanga (D) Banwali

wewl gy st fava & ged g1 duwem @
Bl
(A) Trdrrdr o
(C) wreiram &

(B) wiew &
(D) F=aEmE ¥

Choose the most appropriate technical translation
of the following word :

Circular
(A) g
©) gwm

(B) wftas
(D) qfyea

Popu!alion of a city is | crore. If number of live
birth is 85 thousand, the Birth rate is -
qmamaﬁmmrlmtlu&ﬁﬂﬁamﬁﬁmaﬁ
# demn 85 v ¥, 9@ 9 W ¥ -

(A) 0.085 (B) 0.85

(C) 85 (D) 8.5

Usage of Microsoft clip gallery :
‘(A) to remove slide

(B) to add word art

(C) to spell check

(D) to-add clip art pictures
wrEwiEie fea el & wan ¢
(A) wEe # g2 & fag

(B) =€ & wirex & fog

(C) @ 9% &1 & fog

(D) foa omé fames wisd & fog

If in a code language CREW is written as 96 and
COURT is written as 154, then how will CRATE
be written in that language?

aft us Fz W § CREW @t 96 feran @mar & qan
COURT & 154 feran s #, @ st wmo1 § CRATE
! fpg et foman smom ?

(A) 98 (B) 47

(©) 90 (D) 94

Reliance Industries lelted will devclop‘ India's
first Multi Model Logistic Park in -

(A) Rajasthan (B) Gujarat :

(C) Kamnataka - (D) Tamil Nadu \
framda sveia fafires ara WG &1 99w Weel Hisd
wiTATEs I Y famfaa faan smam)
(A) TS (B) o™

(C) =ea (D) afyeTg
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The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before
the completion of their tenure by -

(A) Chief Minister  (B) Governor

(C) President (D) State Legislature
T W dar A % HenE a1 T B HaH

% g @ qd feed a&Ta g gl 7
(A) g W& & (B) TwquTe &
(C) Trgufer & (D) faum =wr &rQ
“Zero Hour” in Indian parliamentary system
implies the -
(A) Specific time allotted for a discussion on
budget.

(B) time between question hour and next item on
the agenda when the members raise any
matter without permission of the chair.

(C) exact time when the question hour ends.

(D) time allotted for informal discussion between
two stages of discussion on a bill.

W B dEdy wone § g w1 e 7

(A) @z wt =l % fag smdfea fafire @va|

(B) W & 3t wrdgdl @ vt wE & 49 &
9q Wq wEE s B H & ai B
fawg ser ¥

(C) % &% Tvg F@ Wy H @A g |

(D) el forirgs we mat & @ wooil & 4 s
waf & fog emEfea amal

When in the system input, process and output are
known with certainly, such system is called :
(A) Deterministic ~ (B) ' Open :

(C) Close (D) Probabilistic

@ UF goe ¥ §992, WAE 9 AHege ed & gl
AT TG &, 96 JOTCl HEAw &

(A) Fraams (B) =

(C) =i (D) wemfaa

Which of the following enzymes are called
‘molecular scissors’ in biotechnology?

(A) Restriction enzyme

(B) DNA ligase T

(C) Polymerase L

(D) Hydrolase

fr=fefiaa & & &9 @1 domgw St et § Csrfes
1’ Fearar &7

(A) wiveas domgd (g Tomsm)

(B) €T wigT

(C) diema

(D) ®rEgicE
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Which 1s not a funciton of the Bureaﬁ of Public
Enterprises of Rajasthan?
(A) Toserveasa clearing house for the collection

of information for al| state public sector
undertakings.

(B) To issue £u
Rajasthan,

(C) To monitor the functioning of all state public
sector undertakings.

(D) To coordinate workin
enterprises.

idelines to private enterprises in

g of various state

(ToRAT % Wt Sume =) a1 v an rd 7y & 7

(A) mtmmﬁmhtmﬁtﬁqm
T BT ¥ TN T @ we)
(B) o & Froft swmt #1 fram-frdgr 21

(©) = e & % st % Bl & e

HTATI

(D) T % Rafer=t swmel @ wriwomeh ¥ woea
BT

The first Lokayukta of Rajasthan was :
(A) M.D. Kaurani (B) LD. Dua
(C) K:PU. Menon (D) K.S. Sidhu
T % yow dbrge & o

(A) .. s (B) amd.#. gan
(C) %y, wm (D) %.uw. firg

Where is the fort of Achalgarh situated?

(A) Alwar - (B) Ajmer
(C) Jalore (D) Mount Abu
sraere g1 wei fam ¥ 7

(A) Hwat (B) st

(C) (D) wrée &g

‘Chhappan Plain’ is situated in between -
(A) Pratapgarh and Banswara

(B) Banswara and Kushalgarh

(C) Banswara and Dungarpur

(D) Chittorgarh and Pratapgarh

‘BYT # A R ¥ -

(A) wamTe 3T aigarsT % 4=

(B) aigaret 3 gywre & 4

(C) wimaret &t LT & 4w

(D) fadieTe it wamme & &=

What should come next letter in the following
letter series?

Frfeiaa et Aol § SOTeT e S |1 = e ?
K,L J,M,LN,H0,GP[]

(A) F (B) Q
(©) R (D) E

HVS2 | 9=
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The area of an equilateral triangle is 25,3 em?,
then its perimeter is -

(A) 60 cm (B)_ 30 'cm
(C) 50 cm (D) 5043 ecm
WA By &1 A 2543 T2 Y, dw gy,
t &
60 & (B) 30 ¥d
50 & (D) 5043 &

@den rice was produced to reduce the dcﬁci.:ncy
among people.

A) Magnesium (B) Vitgmiﬂ .Bz
Vitamin A (D)‘ Folic acid
T 1 S ar o ‘r B B B oy
% ¥ fro fran -Fle
A Arifarg (B) fazifm 4,
) fqerfm u (D) 3
o

Thg process in which a carl?onatg ore is heated
strongly in presence of limited air to convert
(o metal oxide is called - |

[tA) Smelting (B) Roasting

Reduction (D) Calcination
g it el FElz @ B U oifFme
¥ forg arg @ Wfta Iuftafy ¥ gear & mi Ry
%, wgawt & -
) WA (B) Wi
(( HIga (D) freme

f'hk members of Legislative Council are appointed
flirough -

(I Direct elections
(IH Indirect elections

) Nomination 2
(I) and (1II) (B) (I) and (II)
(1), (1) and (III) (D) (1) and (I1I)

uftug & wewi & gema fear o ¥ -
)y s g7 d
1) swes g9 |

AT 4.

(I sfrz (100 (B) (1) sfrT (1N

o (1), (1) afT (1M1) (D) (IN) Gﬂ'(’([ll)

31

(C) Dhokra

U . . . .
Which one of the following trees is rich source of

gom in Rajasthan?
(A) Khair. (B) Teak

(D) Salar

Frifea gai & & @9 |1 ga e ¥ e ¥ R
T A &7
(A) &t

(C) et

(B) srE=
(D) @m@X
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The difference between sugar molecules of DNA
and RNA is -

(A) presence of nitrogen at 2-C

(B) absence of oxygen at 2-C

(C) presence of oxygen at 3-C

(D) absence of nitrogen at 3-C

oAy, AT ARG F oy ey A ofdT ¥ -
(A) 2-C 9t 7Egre & sufafy

(B) 2-C 9T i &1 v

(C) 3-C gt airadiom & sufafy

(D) 3-C 9T 1ggIe &1 3vrE a

Which one of the following Samskaras i§ related

to birth? O
(A) Jadula (B) Bindoli 0
(C) Mosar (D) Samela 0
ﬁwﬁ&mmm‘tm&w&mt?o
(A) wigm (B) fazreht ~
(C) drx (D) ®re
The average of 8 consecutive integers is %Whnl
is the average of first three integers? 0
8 wwrTa Uil & ohwd - = ¥y @ gl &
afrea 7 ¥ 7 . -
(A) 10 (B) 7 N
(C) 8 (D)%Y,
The ornament bajuband is worn on ——[-C\]r—
(A) Waist (B) Chest
(C) Arm (D) Ankle  \©
AYEE A ¥ we #1110
(A) &9 (B) wrdt 0o
(C) (D) z@ O
N
2

Who is author of Amarknvya Vanshavali
(A) Ranchhod Bhatt (B) Jeevadhar
(C) Jagjivan Bhatt ' (D) Sadashiv Bhatt!

@ GYTEE! B AE@H B &7 =
(A) ToBIE wE (B) wraret O
(C) vrreitE wg (D) waftra w2 O

In which of the following districts arao
Shekhaji Armed Force Training Academyc\]under
construction? _ 2
(A) Ganganagar (B) Bikaner 3
(C) Churu (D) Sikar %
frefataa § & fog faa 9 7era Qf&ﬁh@ﬂa Tw

girEer HeEd fetome= &7
(A) T (B) d@mt
©) 9= (D) @t

208661
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The monthly incomes of A and B are in the ratio
4 :3. Each of them saves ¥ 600. If the ratio of
their expenditures is 3 : 2, then the monthly income
of B is -

A 71 B & ity o § 4 ;3 %1 U &1 @ A
¥ 7% T 600 Faren ¥ afy 5% wr R T e @
3O 3:2 ®), @ B @ wifts ama et -

(A) T 3,600 (B) ¥ 2,400

(C) T 2,000 (D) ¥ 1,800

By which other name is Tartai Mata known, whose
temple is located in Talwara (Banswara)?

(A) Aawri Mata (B) Gajlakshmi

(C) Mahakali (D) Tripura Sundari

 qeard wren forgar wfat qearer (aimarsn) ¥ fea g,

% fvg ot s & W e wman 7
(A) amad \ran (B) Taree
(C) wwTaTel (D) fagu g=h

Which ‘is the famous dance form of the Jaipur
Gharana?

(A) Kathakali
(C) Bharatnatyam

(B) Odisi
(D) Kathak

Ay TR 1 WE T B
(A) wame (B) aifedt
(C) wtaeaw (D) Hu®

Which Rawat (Noble) had given shelter to Bhimji
Charan during the 1857 Revolt?

(A) None of these  (B) Kesari Singh

(C) Jodh Singh (D) Ranjeet Singh

1857 % fergre % wwa iwoll arew &1 f6e T (F)
J 9o & A7

(A) 37 & &1 el
(C) whufds

(B) &uiifds
(D) TiaiEe

A person buys pens at the rate of 11 pens in T 10
and sell them at the rate of 10 pens in T 11. What
is his profit in percentage?

us afed T 10 % 11 99 31 2 & U9 @Ear & qd
ﬁ?ll%loﬁqaﬁrnﬁ&amtlmmuﬁﬂa
¥ g?

(A) 21% (B) 9%

(C) 10% (D) 11%

How many districts are desert districts in
Rajasthan?

T & faer ¥ & fr?ﬁl':'l fore ot ¥ 7

(A) 13 (B) 10

(©) 11 (D) 12
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A pair of genes with contrasting characters is
termed as :

(A) Allele (B) Homozygote
(C) Genotype (D) Heterozygote
foula el am o % AR B e b -
(A) Rferer (B) wagms

(C) = wrew (D) fawmgrs

In which city, ‘Invest Rajasthan Summit’ was
organised from 7-8 October 20227

(A) Kota ~ (B) Jodhpur

(C) Bikaner (D) Jaipur

7-8 orFat 2022 % fvw et ¥ ‘TRw T wfe
& g e mar

(A) = (B) wireye

(C) d=rt (D) Wyt

The third highest peak of the Himalayas is -
(A) Nanda Devi (B) Makalu

(C) Dhaulagiri (D) Nanga Parbat
femrea @ el watfs sd @9 & -

(A) e & (B) W

(C) denfirdy (D) #m wda

Choose the correct anfonym of the following word
from the options given below :

Encourage
(A) persuade (B) aid
(C) discourage (D) incite

Which is named as ‘Dhand’ in the Thar Desert ?
(A) Playa in desert

(B) Oasis

(C) Depression in crescent dune

(D) Artesian Basin i

o wewE ¥ giE % AW ¥ A-w o W k7|

(A) 96@d o wmar

(B) wafwem

(C) == ags |9 § T

(D) sga aft= .

~Who was the chairman of State Reorganization
Commission?

(A) V. Patel . (B) H. Kunzru

(C) K. Panikkar - (D) Fazal Ali
TG GTed AN & HemE B 4 7

(A) 9. vew . (B) Ta. &
(C) *. wHmT (D) wwid el

HVS2 ] oF

d

CAK is equal to -
50 lf|0827""¢5’mm”r 2

1 g
aft logy X=F> aa x A0EAT ¢

A) 27 B) V3
© 3 e

rrect option,
7 g:gmg:eg Tlfoz?d be wn?ittgn in a language tha is -
(A) brief and to the point
(B) roundabout a lengthy
(C) informal
(D) stylish

52 A ciréle circumscribes a rectangle with gjga.
|16 cm and 12 cm. What is the area of the ¢jro|e
| AiA) 1921 em? (B) 96/A"em?

(C) 1007 cm? (D) 152m cm?

16 tnf @ 12 & syl @l RRET Imad & ufi. o

qadfm'rmthamq\awmt? |

(A) 1927 &h? (B) 96 #di2

(C) 100m & (D) 1521 &2

53 Where is factory of Parle Biscuits located i,

Rajasthan? ! 5

(A) Jaipur (B) Bhilwara

(C) Bharatpur (D) Neemrana
ey ¥ ure fafee %l #el flaa &7

(A) YT (B) ¥iraret

(C) Wyt (D) A ,

54 Which function is used to calculate remainder in
" MS Excel? 1%
99w (Remainder) sd &4 & g v ug uawm
I B HAE wAm A @ ¥ 7
(A) FACT() (B) DIV()
(C) MOD() (D) INT()

55 Which of the following is latitudinal extension of

Rajasthan?
(A) 23° 30" South and 30° 12' South
(B) 23° 03' North and 30° 12' North
(C) 23°03' North and 30° 12' South

(D) 23° 30' North and 30° 21' North _
fe & & @9 w1 toram &1 srEisia R 37
(A) 23° 30" zfaqwr g 30° 12' zfigor »
(B) 23° 03' 39 uwd 30° 12' 3w¢
(C) 23° 03' 39T wd 30° 12' zfiqor
(D) 23° 30" 3=t uwd 30° 21' 39¢
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Where did Chief Minister Ashok Gehlot lay the
foundation stone of Dr. Bhimrao Ambedkar Law
University on 16 November, 2022?

(A) Kishangarh (B) Alwar

(C) Jodhpur (D) Bagru

16 T, zozzaﬁrg@ﬁs’hamm#

. e st fafy fayafmea @ smurdien
Hel T ?

(A) fHsme o (B) @@t ¥
(C) wiuye § (D) @ms |
‘qEYaTad’ wAH ¥ -

(A) (B) fowa
(€) w (D) @

The beneficiary group of Rajasthan Shubh Shakti
Yojana is -

(A) Girls and women of labour family
(B) Startup owners

(C) Street vendors

(D) Women business persons

T g SRR drer @ i S -
(A) st aftar ) wefsai @ wfeand

(B) WU €S

(C) peury fasan

(D) wfgem =TT

2024 Summer Olympic Games will be hosted by-

(A) Qatar (B) Tokyo

(C) Paris (D) Moscow 1k
2024 % FroTmm sitias Gl B Jorar B BN 7 |
(A) &ax (B) 4t

(C) dftm (D) wiedr

Which of the following is India's first privately
developed Rocket?
(A) PSLV-G

(B) PSLV-XL
(C) Vikrant-S

(D) Vikram-S
frfoiag & § #9 @ W & ga9 frel &9
femfa Tz &7 5
(A) dromuedt — ot .

(B) drqEgedl — qEwQw

(C) fama — w®

(D) fomw - uw

15
)
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Lithium carbonate gives on heating —

(A) Li, C & CO, (B) Li,O & CO,
(C) LiO & CO, (D) Li & CO,
fafiraw #rate mf w0 g A ¥ -

(A) Li, C 3t CO, (B) Li,O alt CO,
(C) LiO &t CO, (D) Li 3t CO,

‘ImENEE s % firg aw wredw arie ¥ -
(A) e & arg .

(B) ¥ & g 7@

(C) 5w FgHm aren

(D) &ovT & = €1 9

Rheumatoid arthritis is a/an disease.

(A) fungal (B) autoimmune
(C) hypersensitive (D) bacterial
s smdsfen U T B
(A) ®adra (B) wufetfia
(C) wfeead (D) Wraifras

‘Mahi Kanchan' and ‘Mahi Dhaval’ are the
varieties of which crop?

(A) Gram (B) Bajra

(C) Jowar (D) Maize

T e’ i e waw' few waw @ fee ¥ 7
(A) a7 (B) awra

(C) =t (D) w1

Translate the following sentence into Hindi :
Women learn English faster than men.

(A) g&at @t afeerel & gge afish et @)
(B) Tou sl & wredt arih dad ¥

(C) aird gl & waran o st e ¥

(D) Sid i Jout & e wedl el drae ey

The rate at which information is transferred in a
communication channel -

(A) Pixel rate (B) Baud rate

(C) Bit rate (D) Nano rate

TS F TEAT A=W (Fw) 9T 99 @ 3T ()
HEAT & - :
(A) forams 2
©C) faz &

(B) @iz T
(D) ¥ =

Which colour of light deviates maximum in the
dispersion of white light by prism?

(A) Red (B) Violet”

(C) Blue (D) Green

forew &0 whe W19l H fagqu ¥ wanet & @ '/
Fftrpam faafea g &7
(A)

(C) e

(B) &
(D) &
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Which of the following igneous rocks are found
in Jalore?

(i) Gabbro
(i) Granite
(iii) Rhyolite
(iv) Basalt ;
(A) (i) and (iv) (B) (i) and (ii)

(C) (i) and (iii) (D) (iii) and (iv)
Wﬁ%hﬂﬁuﬁw@zﬂqﬁmt?
(1)

(i) R

(iii) TratgEe -

(iv) w0

(A) () afiv)
(©) (i) A

(B). (i) = (ii)
(D) (iii) 7 (iv)

The timejt takes a device to locate data and
instructiohs’ and make them available to CPU is

known as.;

(A) Proctpl%_ing cycle (B) Data speed

(C) Clock speed (D) Access time

feamzw ol gz ddg, @ sume Hm
¥ e WM e b

(A) WRfEE (cycle)(B) = wie

(C). it (D) yFw 2

Who among the following participants stood first
runner up.in Femina Miss India 2022 Competition?
(A) Rubil-Shekhawat (B) Kanika Singh

(C) Yamika Sain (D) Seeni Shetty
it f g 2022 vl & Prafifag ¥ @

B W SRR B T o @ ?

(A) == srarEd (B) @i fie

©) af@@s (D) el e

The birth place of Gogaji is :

(A) Mallagi (B) Kolu

(C) Kolayat (D) Dadrewa

RS N B U ]

(A) =T (B) @iy

(C) =, (D) =&t

A nanoQbelt of pebbles deposited by rivers
parallel tg\tll:e slopes of the Shivaliks is known as-
(A) Kankar “(B) Bhabar

(C) Terai (D) Bhangar

furanfora &Ta % wwHIGT ARl 2 ek T SH i
Wt B o & -
(A) BBE
(C) o

(B) =&t
(D) #T

Q0
HVS? ] =ﬂ<
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- (C) wawm frm

-

Choose the correct alternative which can be
substituted for the given sentence :

The period of life in which a person is old and
weak

(A) Superannuation
(C) Impecility

(B) Dotage
(D) Senility

‘wite o @ &1 area W e ¥ -
(A) =murg fran (B) v far
(D) gdwifers fiar

What is reason of frequent occurrence of drought
and famine in Rajasthan?

(A) Irregular rain

HIPT
(B) Deforestation .

(C) Irrational use of water

(D) Soil erosion

ToRA ¥ -1 ST U4 gl H w H § 7
(A) sfaftm aut

(B) wf & wef

(C) =& &1 arfedayet IwaT

(D) Wit &1 Ferm

days

Under MNREGA, minimum
employment is provided. :

A0 & i g . s & e

wer frar s #1
(A) 150
(©) 120

(B) 100
(D) 130

In which state of India 68" Nehru Trophy Boat
Race was organised?

(A) Andbra Pradesh (B) Tamil Nadu

(C) Kerala (D) Karnataka ,

Ta & fbm Tew 4684 Yew W @2 (Fe) W
it & w7
(A) I W39
(C) &t

(B) dftrerrg
(D) @wtes -«

‘Choose the correct preposition.

He took ages the job.
(A) of (B) over
(C) above (D) beneath
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79 On March, 2022 Yogi Adityanath has been swom

81

82

~q7d, 2022ﬂﬂ=hﬁ1f&m#mnqaim$

in as the Chief Minister of Uttar Pradesh for second
straight term. He is the C.M. of the state.
(A) 30"
(c) 331

(B) 31¢
(D) 29t s

firg IT MR & qErdsh ¥ w9 ¥ gy o) 9 v

% qerd ¥
(A) 30 & (B) 31 %
() 339 (D) 29 &

'Indira Gandhi Urban Employment Guarantee
Scheme' of Rajasthan was launched on -
(A) 18" November, 2022

(B) 15" August, 2022

(C) 9" September, 2022

(D) 8" November, 2022

e @ g midh sed v M g @5
gwTeY &9 fear T ?

(A) 18 7=, 2022 Ht

(B) 15 &, 2022 &t

(C) 9 faaa, 2022 %

(D) 8 5@, 2022 &

|

Guindy National Park is located at

(A) Mumbai (B) Bengaluru
(C). Kolkata (D) Chennai
A T v ¥ fom
(A) g8 (B) #meqs

(C) rewabran (D) a=

|

Chambal Project is a joint venture of states of }
(A) Rajasthan and Madhya Pradesh L
(B) Rajasthan and Haryana

(C) Rajasthan and Punjab

(D) Rajasthan and Gujarat

T i fe T B wge afEe 8 9 R
(A) o™ 3T 75 Wey :
(B) T ST sfaamm

(C) TwE 3T Yo

(D) T SR e

Which place is famous for black pottery?

(A) Chittorgarh (B) Jaipur. . oo
(C) Banswara (D) Sawai Madhq;?ur
@l 8 & ad+ & fou @9 a1 =E aihg #17
(A) fudizTe (B) WAyt

(C) argare

(D) waré gy

HVS2 | o 520

84

85

86

87

The lens formula in Cartesian coordinate system
is —
where, u = object distance from optical center
v = image distance from optical center
/= focus distance from optical center
Pt Friers a9 ¥ dG & g ¥ -
e, 1 = vl ¥ @ P @ g
v =y ¥ @ wfafea B gh
£ = v w @ B gl

(A‘S‘\]j;vﬂl (B) 7=T+T;
\O, | Jgdoa

Q@O7=3"v D) 77V u
0

U((P which Article of the Indian Constitution
thg govemor can reserve the bill passed by the

legislature for President's approval?

(A). Article 200 (B) Article 256

( oArticle 257 (D) Article 213

wfw % fhg orgede % aeq T famr AUsd
gﬂﬁ feréaas @1 Trezafe a1 @l ¥

K 7 :
(A) 200 (B). #rga¥E 256
(g\g 257 (D) e 213
(N :

Famous painter Sahibdeen belongs to which school

of{ painting? ; I ‘

(A)cAIwar (B) Mewar

(Q)Marwar (D) Dhundhar

Wi femmr aifsads fasaen @ fog 9 &

e 7 i

(A) et (B) #arz

(C()\Jm (D) %@t

-
V KUP function' used to :
(/\ Find non related recqrc[s

(EHOmel relau_’,d record :
( ooks up text that contain “V’

([E)\]Check if two cells are identical
VLOOKUP %3 %/d Hiar & :

(A) @ frer oo o Raié gear
(B) \Rret e até goan &

(C) =% 1= goal & e Vo R

(D\)Difr AH &I UHIH GHHA H o0 e &
o
) _ [ Contd...
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88 The first Chief of Defence Staff (CDS) of India,

G?neral Bipin Rawat was posthumously conferred
. with which award?

(A) Padma Vibhushan(B) Paramvir Chakra
(C) Padma Bhushan (D) Ashoka Chakra

HITd % 99N 9% 7% fea wre (CDS) s fafvw
TEA B TN P FEE 8 wet e mar?
(A) wgH oo . (B) TOdR W%

© v (D) E

.89 There is a definite relationship between first two
problem figures. Based on same relationship
choose the correct answer figure.

wmﬁmmﬁm‘ltﬂwqﬁﬁrﬁuﬁmtls@
. EEE F TH T O IO PR w wwT g
Problem Figures Imw@'ﬁmf 31

a1 3 B inaihaiA
OQO % olia 4? i€

Yondy :_‘. Ll _;

(M (I (6 (V)
Answer Figures / Sot. sl o«
& FRE

&) °Q° ®) [/
5 Fiap
© "A’

90 Ctrl +Y is used to : {eri6h
(A) Undo last action 1 friie 1 1w
(B) Align a paragraph $ el fF
(C) Close a document 5115}
“(D) Redo or repeat last action . =
Ctrl + Y& wam fem s & @
(A) afem i gdag sm-Hifmg oo
(B) e uemsd ¢ @ fgd o b
(C) % T & 48 & & fgii
(D) siftm fvar =t frdie @ &g 01 % fog

91 ﬁﬂmﬁﬁﬁ;&mm(m)ﬂmﬂm 97

e s 7 " (Y

(A) e (B) fafear

(C) uftws (D) s
92 Which blood type is a universal donor?

@ | @ FE g e ¢ ?

(A) AB* (B) O

(C) o* " (D) AB™

HVS2 ] o

93

94

95

96

10

‘(A) Ranthambore

(A) TR

Diamond is a -

(A) Tsochore of carbon
(B) Allotrope of carbon
(C) lIsomer of carbon
(D) Isotope of carbon
s ¥ -

(A) F B FHSTAD
(B) @A H HIET

(C) A B W

. (D) A & goentiE

Neha walked 5 km towards west from her school,
Then she turned to the right and walked 4 km,
Again she turned right and walked 5'km. In which
direction she is going?

(A) West (B) Nog{l‘;

(C) South . (D) East '
o1 ord Prerrer & fvers @t aire S et awd ¥ @
a5 Tl sl qEw 4 Pl aed 1 g 7w w i
wsmmtlmmf&wﬂmrﬁt?
(A) df¥an (B) @t

(C) e (D) 7

Rh factor is an antigen situated on the surfice of

(A) Lymphocytes

(B) White Blood Cells

(C) Red Blood Cells

(D) Platelets

Rharsum et @ifte & §as
ut feaa #ran #)

(A) feprarged

(B) «da st & 1ia

(C) = shrT & S

(D) fémmy

e g wﬁaﬁrcﬁ qmE?
(A) e (B) &
(C) = (D) feamea

Which of the following forts is awarded “Best
destination in India Silver Outlook Traveller Award,
20227

(B) Jaigarh

(C) Hawamahal (D) Kumbhalgarh
frafafas el & & 8 = hewm = W
fawa e @t HaEiE 20227 § FEwn @ e
(B) sam®

(©) (D) FrwTs

: ‘[ Contd...
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which one of the followin

08 (A) Singhthal - Harivanshgi S Wrongly Matched? | 105 From the top of a cliff 150 m high, the angle ?f
(B) Ren - Dariyayjj . depression of two boats are 60° and 30°. What is
(C) Shahpura - Ramcharanji the distance between the boats if the boats are on
(D) Khedapa - Ramdasjj the opposite sides of the cliff?

ﬁ")'ﬁ@“ y Kf{"wgq* ™ T fer 37 (A) 200 m (B) 5043 m
A) e —
:B) 1 — Feareh (©) 100¥3 m (D) 20043 m
(C) YT — TETore 150 #. St wzrg ¥ ofed & 2 @l @1 s BT
(D) @STT — T 60° Fa 30° ¥ | syt % weg g ¥ aft A WA
. & fauda faam o 37
) ?%m:hﬁgve:%;?&mft‘?"m (A) 200 4, (B) 5043 .
(A) 200% (B) 0.2v (C) 10043 +. (D) 20043 .
C) 2% (D) 20% ;
: 106 In which medical college of Rajasthan, Institute

00 B T A= g L& of Paediatrics and Neonatology will be established?
(A) sirerd (B) Ysre (A) JLN Medical College, Ajmer
(C) ®da (D) T (B) SN Medical College, Jodhpur

(01 The median mark.s from the following cumulative Eg) f::li Medical F:'olllelge. Jaipur
frequency curve is - ) aicmte Hospital, Kota e o
i i ﬁaﬁaﬁm% # # a2

N 50 HqEU™ HlT'Fﬂ [
g E (A) Num.A. Aswm wrow, st
Q - 40 f-=---emeeeao n
- 90 JL s ; (B) wa.w, wfewa aiaw, gt
‘”szo --------- P (©) wa.waTy. dfewa e, way
?g ol (D). %, W wrelrem her
s Loty
" A 10 20 30 40 50 60 © [ 107 If the altitudes from‘two vertices of a triangle to
Marks / Wreiis —s the opposite sides are equal, then the triangle is -
: B) 2 (A) scalene (B) right-angled
:2)} gg gD; 42 (C) equilateral (D) isosceles
: At o oyt % < ot & weg@ el wT e T
102 foe wgE d wE e st T &7 A, @ Bogw k-
(A) fif—va@er  (B) W whw , (A) fwwarg - (B) wwwm
(C) T — wmaa (D) s — g (C) wwarg (D) wwfgag
113 ‘SUBORDINATE’ @1 f=t wiftenfus srez & — 108 The largest inhabited riverine island in the world
& ' is situated in the river - :
() m“"aai . (g; waita i (A) Brahmaputra ~ (B) Ganga
© ( (C) Indus (D) Godawari
104 Transformation of input into output is performed m%?& T SATAHT Hﬁh —
by = ' X
(A) The input-output unit (A) SEYA (B) wrm
(B) Peripherals (C) fay (D) TR
(C) UPS TR ; ;
(D) CPU : VN 109 What number must be added to each term of the
T ¥ wezge ¥ uftadd fews @ g ¥ 7 ; ratio 4 : 5 so that it may become equal to 5 : 67
A]sagz—arngzms‘ _ = HIIG 4 : 5 F T4 T ¥ B @ wEn W W i
(B) e WWS:G%W(;YWIN?
(C) gdum. : (A) 4 )
(D) #rdrg, © 2 (D) 3

fvs2) ok | 11 [ Contd...
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g 110 Go through the following poem and answer the | ;14 e value of FragaT i <
[ question given below: ; ;
3 O Rose thon artisick. | 772641 @A E -
I _ The invisible worm, . * (A) 889 A (B)L8TY
I That flies in the night s (D) 891
| in the howling storm:
l Has fo_und out thy bed ‘ 115 Under whose chairmanship was the Mewar
il of crimson joy: Prajamandal founded in 19387
1 And his daErk secret love (A) Balwant Singh Mehta
Does thy life destroy. (B) Nayanu Ram Sharma
What does the 'worm' symbolize here? ~ (C) Kapurchand Patni
, (A) Death and decay (B) Secret love' N (D) Jamnalal Bajaj
; ‘ (C) Life and beauty (D) Howling stmtn\o e ySATvEE @I A fam‘qﬁ’ areaeran o 1938 ¥
| i
111 What is function of Rural Non-Farm Devel ment f
Agency (RUDA)? d‘g (A); e s et ;
(A) To provide electricity in wllnges | e ] . (B) o™ gt
(B) To develop agriculture N (C) wyrda wred
(C) To develop Non-farm sector ' (D) SHATETE "

(D) To develop educational II\SlllUlIOI'IS N :
ardivor e-fty frwr wiwT (w91) @ T ¥7| 116 Which of the following is different from others?

(A) TR ¥ faoren—suee ST O (A) Square . (B) Cone
(B) 3fy & fasrw O (C) Circle (D) Triangle
(C) -zfw &= =1 fawm 0 Pra & & @ & o @ fir &7
(D) fure wremsit a1 fiamer O (A) i (B) 9%
CN e () (D) frst
112 Which of the followmg is not one of Power Point F !
kol (N 117 The range from the following, belonging fo the
(A) Outline view (B) Slide show few losser Himal e asis ) i
(C) Slide view (D) Presentation yigw (A) Given all : (B) Pir Panjal
frrfIdm @ oAU @ 57 O

(C) Dhauladhar (D) Mahabharat
Preififag o ¥ Pra—feaem @ ddfua Jaa & -
(A) T & wf (B) drz deire

(C) dheramt (D) =eTE

(A) omeeasA 7 (B) WS W 0O
(C) wmgs & D) W= g O

13 BaCly, ) +NayS0, = Baso4 ¢ +2NaC](

aq) is

an example of N 118 Fill in the blank with the correct option.
(A) Combination reaction L The teacher taught us that the earth
(B) Displacement reaction O round. !
(C) Double displacement reaction O U A) are (B) is
(D) Decomposition reaction 0:) (C) were (D) was
92150 d |
: 119 The bacteria E. Coli responsible for diarrhoea are:
% IEAE & — 10

2 A \ "~ (A) Non invasive (B) Gram positive
(g) i{ﬂ . : (C) Gram negative (D) Gram neutral
; C; S i zw ¥ Rl wercard €. wveng e AR ¢ -

onill2

: (A) 7 et (B) M EHIES
(D) B e (©) W TTEE (D) W e
HVS2 ] b 12 | [ Contd...
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V

fn how many districts of Rajasthan Tripaj A
pevelopment Scheme is being implemented? b

& fora? formy o

e TS & P i oy
(A) 12
©) 8

{ Geo-stationary satellite revolves at
(A) Height which depends upon it mass
(B) Any height
(C) Fixed height
(D) Any height above the poles
q-flart ST o $.=
(A) AT I 7@ 1T fedr gy
) frd i Far ox
(C) fat a1 I :
(D) 31 % S ot S wy

22 Any kind of letter generally ends with -
(A) Heading (B) Salutation
(C) Signature (D) Subscription

;23 Who was declared the Indian Film Personalify of
the year at IFFI (International Film Festival of
India) 2022 held at Goa?

(A) Manoj Bajpai (B) Hema Malini

(C) Chiranjeevi (D) Prasoon Joshi

it § AR STE.0%. U . (W sy
51 GHTE) ZUZZﬁﬁiéﬂqu‘ch'qﬁmElﬁﬂa
difta far T ?
(A) WA ATt
(C) fatirdr

(B) #w1 mfery
(D) wga whsh

124 Choose the correct indirect form of the given
sentence from the options given below : -

She said, "We were thinking of selling the house

but we have decided not to".

(A) She said that they think of selling the house
but had decided not to.

(B) She said that they have been thinking%'f
selling the house but had decide not to.

() She said that they had been thinking of selling
the house but had decided not to.

(D) She said that they thought of selling the house
but decided not to. ; '

12

h

125 In aquatic ecosystem, the limiting factor for

productivity is _

(A) soil (B) light
(C) water (D) air
T g, Saradhdl B e B
) '
(&) g2 (B) webmer
Q) 7= (D) a3
6 amon is obtained from which part of the plant?
Flower (B) Root
Bark (D) Leaf
, UEd & fhw W @ yra et ¥ 7
B (B) =1
BIe . (D) ush

127 'lfl?e Jain Granthas Harivansh Puran and

alyamala were composed during the reign of
Bratihar ruler !
(A) Mahindrapal I  (B) Vatsaraj
(C) Rambhadra (D) Mihir Bhoj
@lET smes % gmad @ ¥ 99 T

[eRE g Ue GaeEen # A g
() e wam (B) FEts
(© T (D) fife sirr
QO

128 Setucture of Xe Fs"ion is —

vs2] b , 13

% pentagonal

(B) trigonal bipyramidal
(8) square pyramidal
(B) octahedral

Feh oma @ wee ¥ -
o P
I<EHTDE -

is a process of translating a task into a
jes of commands that a computer will use to
form that task. : :
Maintenance
System Design
(C) System Analysis
(B) Coding -
U% H1d w1 SR B GEen § A s
@ 0% i ¢, T wrger o e @1 H & fa
TYGNT H | :

(A) #fedw (Tatam)

(B) faww fewmea

(C) fren fassiwor (gerfefere)

(D) @ifg

[ Contd...
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130 A sum of money doubles itself at compound

interest in 15 years. In how many years will it.
become eight times?

% U9 T awgfE = @ 15 aut § w w
e aut ¥ a5 ams T B o 7 ST

(A) 75 ~ (B) 30

(C) 45 - (D) 60

131 Choose the correct option for the Passive
construction.

Everyone calls him a peacemaker. .
(A) Everyone is called a peacemaker by him.
(B) A peacemaker he is called.

(C) He is called to be everyone's peacemaker.
(D) He is called a peacemaker.

132 Find the missing number.

9 "en W i)
6+ ; 189 ; 14428 ; 12
4 F ok 15
(A) 24 S (B) 19 ;
(C) 207 (D) 22

133 An aggrieved person can file a writ petition for
the violation of fundamental rights in :
(A) High Court or Supreme Court
(B) High Court only
(C) District Court only
(D) Supreme Court only .
Hfwe st & & €11 ar wwfam =i Rz af
A TEME
(A) =9 <@g a1 Ieaaw e
(B) ¥aw T= =ywwa o
(C) ®aw faen =mawg &
(D) ¥aw I=aaq UEwd ¥

134 For what value of n, (x+4) is a factor of

(x" +a" ) ?

(A) Only for odd values of n
(B) For all values of n

(C) Only for prime values of n
(D) Only for even values of n

nEHE IS W (x+a), (x"+a")aslqasgmvz
B ?

(A) n % Haw fqug a=f & foo

(B) n & uvf 9t & forg

(C) n % %Haa Vg 9H &% fag

(D) n % %aw 99 941 % foQ

HVS2 ] ob 14

135 Prg o o wmg-wadh aigfs &7
(A) o (B) Taufx
(C) T (D) ﬂ‘fﬁm

136 Which of the following factors is not responsible
for governing the climate of Rajasthan?

(A) Rainfall being fairly uniform

(B) Temperature

(C) Distance from Sea

(D) Prevailing winds

Preifra ¥ & @9 W BE T B FEg H
Preffea et % forg sercardt dt ¥ 7

(A) aut @1 gar e A

(B) @M=

(©) w & g8

(D) wafera v

137 Fill in the blank with appropriate determiner from
the options given below :

pen will do.

(A) Enough (B) Many

(C) Any (D) Much

@ If cose=%, then tan® =7

afy cose=%,a’t tan® =7
b A a2
AW J2_2 (B R

B e T
(o Ll e

139 Who is widely regarded as the father of the India's

space programme?

“"(A) Dr. Panchanan Maheshwari
(B) Dr. Homi Jahangir Bhabha
(C) Dr. Vikram Sarabhai
(D) Dr. A.P.J. Abdul Kalam

- WA & A Y & SR 6y e W 7
(A) ST, TamA ARyl
(B) . gndi Wenix W
(C) =i. foamm g
(D) = ghW. =gw s

o 4
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141

142

143

144

HVS2 ] o

Partisan elections for p
recommended by -

(A) Sadiq Ali Commitee

(B) K. Santhanam Committee
(C) Ashok Mehta Committee
(D) G.VKK. Rao Committee .

anchayati Raj bodies was

qaEd A Gens %

& R0 it Prafa ) sgsten

In a row Roma ;s éighlh from the .Ieﬁ

. . d

is seventh from the right. Whep they im::chaAnnézg
their plflic::'s among themselves, then Aman becomes
eleventh from the right. Then what wi !
position from the left? L oA
(A) 13t (B) 10t

©) 1 1th (D) ]2th
qa;dfa?t}ﬁmwﬂoﬁrﬁmmﬁtmmwaﬂt
amtlm&mﬁmmﬁwﬁaﬁamﬁﬂ
ta}mmﬁ’reﬁﬂ}mnﬁﬁm%lmﬁmzm
e At o/ | ehm e

(A) 134 (B) 103t

(€) 114 (D) 123

Falku Bai of Kishangarh is associated with which
dance form ? :

(A) Chari (B) Chakri Dance
(C) Terahtali (D) Kalbeliya

146

147

145 Example of logical operators is :

witsd Sigizd & SamE & ¢
(A) XOR (B) >
©) + (D) if

How many minimum meetings of Gram Sabha are
compulsory in a year? :

T g P U ad § fead gEaw Ao sifvard # 7
(A) 5 (B) 2

© 3 (D) 4

-

A 14 years old student is not able to see clearly
the questions ﬁwr_itltcn)on a black board ‘placed ata
distance of 5 m from him. The student 1s suﬂ"erm‘g
from which defect and to correct vision of his

1]

‘‘‘‘‘

(A) Hypermetropia, Convex lens

(B) Myopia, Concave lens

(C) Myopia, Convex lens

(D) Hypermclropia,iConcavc lens

U 14 ad a1 fqadl sam vea we ford gg wed &
S Y. @ gt @ a7 ug rar ¥ faenedf e e A
3 e & w4 T g7 BTN F o @ @ G SwET
TN m?r it neo

(A) Fr-gfe @) gaa wa

(B) vz gt die e wa

(C) Pz gftz a’tw”isfﬁf ad

(D) 32 3ftz 2w, Fage o«

T 1 G ST
fbsrme 2 Bog A b T @ wafim & 7 ’ 148 ‘wdad & g9y surg @ sl @) e H A
(A) =0 (B) w=it ™. | HeEEaa Yoo e i 0
(C) dtearet (D) wreraferar (A) BT qT T TR T
‘ ) : B) mﬂwﬁ;ﬂ' T
gfuftst’ s/ o & g1 qum £ 7 (
(A) fa (B) #durg (C) am a;ﬁr 77 g;eﬁ @ret
(C) =gafe (D) ererdvme (D) ﬂm : W JHIEAT
How many members are nominated by the 149 In \fvh]'ch district of Rajasthan factory of Havells
Governor in the Legislative Council of a State? India is located? . =
(A) 1/4 of the total membership | (A) Jaipur .+ (B) Alwar
(B) 1/6 of the total membership * ‘l (C) Ajmer i ...l (D) Kota
(C) 1/3 of the total membership % ] T % few fae § dEew iftar @ Had fag &2
(D) 172 of the total membership . (A) x (B) @@y
T 2T T 1 e uiteg ¥ Rt wewr e ©) m D) =
fog o &7 : : i) X o
(A) &=t 3 o dEn & 1/4 , : : :
(B) wewi & 3w wem &1 1/6 ls“i?““i‘e““ﬁ“ﬂ‘j‘@?%‘
(C) ===t &1 Fw @@ & 1/3 (A) &+ Tuo (B) & + uyy
(D) wewl %1 g wemn & 1/2 (C) o1 + Tuwr (D) o7 + Tom
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